50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 hrs.

First/Second Semester B.E. Degree Exami
Elements of Civil Engineerin

Note: 1. Answer any FIVE full questions, ¢ho
2. Missing data, if any, may be %ably assumed.

S, g
ff‘élds of civil engineerin Geotechnical Engineering

i) Transportation Engmeerm \ \ 111) Water Resources angjlmgatlon Engineering

iv) Structural Engineering. ¢ (08 Marks)
b. State and explain basic conce‘pts of idealization of méchamcs (04 Marks)
¢. Determine resultant for @%%r the system shown i i ) (08 Marks)

a. State the scope of following

a. State and explain the ege of infrastructural fa%iés on social—ecc: 91‘510 development of a
country. \ o D (08 Marks)
State i) Prmc1ple of txansmlsmblllty ii) %{es ‘ ﬂ}ﬂlon and compogltlon of forces (04 Marks)

(08 Marks)
wﬂ ﬁ';f;@x ¥
¥ Vo
Y
Module-2
with examples (04 Marks)
248 (08 Marks)

20 .
. ¢ Fig.Q3(b) N
c. A uniform laddm eight 850N and length 6m rests on a horizontal ground and leans against
a smooth vertL alwall. The angle made by the ladder with horizontal is 65°. When man of
weight 700N sta{%ds on the ladder at a distance of 4m from the top of the ladder, the ladder
slides ri ﬂ@ht sﬁie Determine the coefficient of friction between ladder and ground. (08 Marks)
L 1of3
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OR
4 a. State laws of dry friction. = . (04 Marks)
b. Find contact pressure at surfaces of contact for the sg;gfegﬁa hown Fig.Q4(b) for two identical
cylinders P and Q. o, (08 Marks)

a ,° wedge on a horizontal floor and leaning against a
vertical wall is to be raised by ing a horizontal force” &;the wedge. Angle of friction
between wall and the bloclgfi@ 5° and for other surfa%éj’g%df contact as 18°. Determine
minimum horizontal force t6 ﬁ applied to rise the blﬁ)ck shown in Fig.Q4(c). (08 Marks)

P W

g

@%
5 a. Distifigdish between : &

i) Statically determinate and glawé”{erminate beams

ii) Method of Joints and %ﬁqthod of sections. (06 Marks)
b. State assumptions madeﬁfﬁf't;guss analysis. (04 Marks)
(10 Marks)

c. Find support reactions&f@fﬁihe beam show%i’tz%fr

7438
’@Fig’fQS(c)
4%“
6 a. Deﬁn&ﬁ%pport and suppo: 4 ex%laln different types of supports with neat

'sket,/(;hesy. %’% R
b. £Eind support reactions goi;%antilever bea

o
[

“ (06 Marks)
(04 Marks)

A4 & TR
' FigQs®)
c. Find forces in members of triss shown in Fig.Q6(c) using methods of joints and tabulate
(10 Marks)
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Module-4
a. Determine second moment area of semicircle about hori (06 Marks)
b. State and prove parallel axes theorem. - (04 Marks)
c. Locate the Centriod of plane area shown in Fig. Q7(c\ (10 Marks)
OR )
a. Determine the centrlq d of tﬁangle of base ‘B’ ancf he:g @%t FH . (06 Marks)
b. Define : ii) Produ€t of inertia
iii), (,,‘en jiod iv)Centre of gravity. (04 Marks)
c. Find radius of ’Ej}i’atlon about X-X axis sh@Wt},»m Fig.Q8(c). (10 Marks)
héxfﬁ” v ;__80"\“4
a. (04 Marks)
b. )
( }lesplacement acok »rﬁtlon and instantaneo (06 Marks)

c. A bulletfired upwards at le of 30° to the horlzontal from top of hill of height 80m and
})ull@t strikes the grouqﬂ‘%v“h“rch is 80m lowegathan the point of projection. If Initial velocity

4.0f bullet is 100m/sec. Ifémd Qg?@’

.1y Maximum helg%%@;he bullet rise abovethe point of projection

11) The velocny wi’gyh ‘which it stnlgzs the ground

(10 Marks)

a. State Newton s laws of mo%on (04 Marks)
b. A body falling freely yndeg;vthe action of gravity passes two points 20m apart vertically in
0.4 seconds. From vi? height above the higher point the body starts to fall take
g=9.8m/sec’>. ¢ (08 Marks)
c. A fly wheel rotatgpg at 200rpm and after 10 seconds it rotating at 160rpm. If the retardation
is uniform d@f@: rmihe number of revolutions made and time taken by flywheel before it
comes to rest from the speed of 200 rpm. (08 Marks)

* sk k k %
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